



# SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.

## Auction Division AUCTION REPORT

---

1. Name and address of the auctioneer	:	SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.
2. Spices Board licence no.	:	EAUC/CS/50018/
3. Season	:	2025-2026
4. Auction number	:	31
5. Date of auction	:	05-Feb-2026
6. Quantity Carriedover from last auction	:	Kgs. 0.000
7. Fresh arrival	:	Kgs. 73142.800
8. Total auction quantity	:	Kgs. 73142.800
9. Quantity withdrawn	:	Kgs. 259.100
10. Total quantity sold	:	Kgs. 72,883.700
11. Quantity returned to planters	:	Kgs. 259.100
12. Balance with the Auctioneer	:	Kgs. 0.000
13. Total value of the sale	:	₹ 181,393,940.00
14. Maximum price	:	₹ 3332.00
15. Maximum Priced quantity	:	Kgs. 147.300
16. Minimum Price	:	₹ 2150.00
17. Minimum priced quantity	:	Kgs. 326.900
18. Average price	:	₹ 2488.81

---

For SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.





# SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.

Auction Division

## AUCTION REPORT FOR BULK CARDAMOM

---

1. Name and address of the auctioneer	:	SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.
2. Spices Board licence no.	:	EAUC/CS/50018/
3. Season	:	2025-2026
4. Auction number	:	31
5. Date of auction	:	05-Feb-2026
6. Quantity Carriedover from last auction	:	Kgs. 0.000
7. Fresh arrival	:	Kgs. 73142.800
8. Total auction quantity	:	Kgs. 73142.800
9. Quantity withdrawn	:	Kgs. 259.100
10. Total quantity sold	:	Kgs. 72,883.700
11. Quantity returned to planters	:	Kgs. 259.100
12. Balance with the Auctioneer	:	Kgs. 0.000
13. Total value of the sale	:	₹ 181,393,940.00
14. Maximum price	:	₹ 3332.00
15. Maximum Priced quantity	:	Kgs. 147.300
16. Minimum Price	:	₹ 2150.00
17. Minimum priced quantity	:	Kgs. 326.900
18. Average price	:	₹ 2488.81

---

For SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.



# SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.

## Auction Division

GSTIN:32AAICS4716N1Z3,SBL:EAUC/CS/50018/18/2025-26, AUCTION:31 DATED:05-Feb-26

### BIDDERS STATEMENT

MAXIMUM: 3332.00		MINIMUM: 2150.00			AVERAGE: 2488.81		
BILL NO	NAME AND ADDRESS OF BUYER	GNY	QTY KGS	VALUE RS.	GSTIN	SBL	
G-L/0595/2	ALLUS GLOBAL SPICE TRADE LINKS F	14	650.60	1564380.70	32AAZCA1502H1ZV	CS/55716/786/2024-25	
G-L/0596/2	A.MOHAMMED SALIM	38	1716.40	3825277.80	32ACEPJ2736J1ZT	CS/M179/274/2023-24	
G-L/0597/2	BIYA SPICES	18	847.30	2064530.20	32AQPPB8722R1ZB	CS/B952/105/2023-24	
G-L/0598/2	JIYA SPICES,CHAKKUPALLAM,KUMILY	20	853.70	1989865.60	32AHVPJ4655Q1ZI	CS/J894/241/2023-24	
G-L/0599/2	KINGFISHER SPICES, MILLUPADI, ADI	46	2136.60	4826698.80	32ANXPT9618F1ZB	CS/K1027/233/2023-24	
G-L/0600/2	LACHUS SPICES,VELLARAMKUNNU	12	568.30	1408927.60	32CBCPB1616E1ZL	CS/10396/205/2023-24	
G-L/0601/2	LIMRA TRADING COMPANY,PAMPUPA	7	322.50	755295.00	32BYWPA9833Q1ZK	CS/12257/158/2023-24	
G-L/0602/2	PAYYALUMURIYIL SPICES, CHAKKUP,	6	269.60	730430.60	32BIQPM4972A1Z9	CS/DL-193/49/2023-24	
G-L/0603/2	SPICE TOWN, KOCHARA, VANDANME	6	281.00	641804.00	32AEUFS0230C1ZF	CS/55245/315/2023-24	
G-L/0604/2	MAS ENTERPRISES LIMITED(SPICES I	202	9461.90	24479226.40	32AABCM4605M1ZM	CS/M048/277/2023-24	
G-L/0605/2	MAS ENTERPRISES LIMITED(SPICES I	122	5746.80	14517710.50	32AABCM4605M1ZM	CS/M048/277/2023-24	
G-L/0606/2	MAS ENTERPRISES LIMITED(SPICES I	32	1408.10	3335236.00	32AABCM4605M1ZM	CS/M048/277/2023-24	
G-L/0607/2	MAS ENTERPRISES LIMITED(SPICES I	19	836.70	2205987.50	32AABCM4605M1ZM	CS/M048/277/2023-24	
G-L/0608/2	MAS ENTERPRISES LIMITED(SPICES I	5	234.70	769434.80	32AABCM4605M1ZM	CS/M048/277/2023-24	
G-L/0609/2	BILAL SPICES, PAMPADUMPARA	59	2773.20	7109552.60	32BDRPN8414L1Z2	CS/10910/187/2023-24	
G-I/0873/2	ROSHANA SPICES,CUMBUM	20	914.90	2576280.80	33ABRPV6254B1ZG	CS/R1341/206/2023-24	
G-I/0874/2	SUBALAKSHMI SPICES ,THEVARAM	3	139.00	301769.00	33AEIPT2907B1ZT	CS/55624/694/2024-25	
G-I/0875/2	KAVISH TRADING COMPANY, BODINA	11	511.00	1386384.00	33AEBPA9039E1Z0	CS/13355/90/2023-24	
G-I/0876/2	KAVISH TRADING COMPANY, BODINA	22	1023.20	3080652.40	33AEBPA9039E1Z0	CS/13355/90/2023-24	
G-I/0877/2	SRINIVASA ASSOCIATES,BODINAYAK.	5	235.60	553895.60	33AEMPM2632L1ZD	CS/55427/497/2023-24	
G-I/0878/2	SUREN AGENCIES, BODINAYAKANUR	9	359.50	774722.50	33AKGPM4581L1ZU	CS/S2786/303/2023-24	
G-I/0879/2	RELIANCE CARDAMOM COMPANY,BC	7	329.40	877104.20	33ACNPR4184R1Z0	CS/R1382/204/2023-24	
G-I/0880/2	RCC SPICES,BODINAYAKANUR	24	1134.50	3061523.70	33AVIPV3116D1ZT	CS/55450/520/2023-24	
G-I/0881/2	RCC SPICES,BODINAYAKANUR	7	294.80	652900.10	33AVIPV3116D1ZT	CS/55450/520/2023-24	
G-I/0882/2	RAKSAK CARDAMOM TECHNO PRO P	33	1440.90	3287806.00	33AFQPR9042E1Z7	CS/55708/778/2024-25	
G-I/0883/2	RADHEY RADHEY ENTERPRISES,BOC	19	943.50	2493286.90	33DBCPR1034K1ZT	CS/12254/10/2023-24	
G-I/0884/2	RADHEY RADHEY ENTERPRISES,BOC	20	929.30	2217975.90	33DBCPR1034K1ZT	CS/12254/10/2023-24	
G-I/0885/2	RADHEY RADHEY ENTERPRISES,BOC	23	1099.50	2461891.70	33DBCPR1034K1ZT	CS/12254/10/2023-24	
G-I/0886/2	RADHEY RADHEY ENTERPRISES,BOC	13	622.10	1395544.80	33DBCPR1034K1ZT	CS/12254/10/2023-24	
G-I/0887/2	SANDHYA SPICES,BODINAYAKANUR	9	406.80	916872.30	33ABNPA5784B1ZW	CS/S2485/245/2023-24	
G-I/0888/2	SANDHYA SPICES,BODINAYAKANUR	4	174.30	409953.60	33ABNPA5784B1ZW	CS/S2485/245/2023-24	
G-I/0889/2	SANDHYA SPICES,BODINAYAKANUR	10	500.30	1279516.60	33ABNPA5784B1ZW	CS/S2485/245/2023-24	
G-I/0890/2	SHREE LAXMI SPICES, BODINAYAKAN	9	436.80	1164072.00	33ADXFS1960K1ZG	CS/55551/621/2024-25	
G-I/0891/2	EMPEROR SPICES PRIVATE LIMITED	56	2672.50	7176391.00	33AAICE0361K1ZS	CS/55837/903/2025-26	
G-I/0892/2	AAA SPICES,CUMBUM	18	844.20	2025519.40	33BHIPM3226L1ZA	CS/10179/260/2023-24	
G-I/0893/2	AMRIT SPICES,CUMBUM	55	2447.50	5775964.90	33APPPA7133Q1ZJ	CS/A2623/261/2023-24	
G-I/0894/2	S & N SPICE TRADERS, BODINAYAKAI	26	1253.20	3221282.20	33KETPS8385M1Z2	CS/DL-189/14/2023-24	
G-I/0895/2	SRI SRI GURUDEV SPICES - BODINAY	9	411.00	949821.00	33GNCPs1781P1ZC	CS/55140/210/2023-24	

BILL NO	NAME AND ADDRESS OF BUYER	GNY	QTY KGS	VALUE RS.	GSTIN	SBL
G-I/0896/2	JEYAM TRADING COMPANY,BODINAY	30	1439.70	3589627.30	33ARZPR7930C1ZC	CS/10138/25/2023-24
G-I/0897/2	SVS GNANAVEL COMPANY, BODINAY.	49	2329.60	5201447.40	33ARCPG5966A1Z6	CS/12608/250/2023-24
G-I/0898/2	VARDHAN TRADING COMPANY, BODII	18	788.80	1907417.90	33AVIPM9771F1Z9	CS/55514/584/2023-24
G-I/0899/2	PREETHA TRADING COMPANY, THEV.	212	9433.80	23575500.80	33DDXPB1026C1Z1	CS/55891/957/2026-27
G-I/0900/2	POOJA GOWTHAM TRADING COMPAN	174	7853.60	19363875.80	33EBTPS4761N1Z0	CS/55641/711/2024-25
G-I/0901/2	BHARATHI TRADING COMPANY,THEV	83	3807.00	9490582.10	33NCAPS2101B1Z7	CS/55457/527/2023-24
<b>TOTAL</b>		<b>1584</b>	<b>72883.70</b>	<b>181393940.00</b>		

# SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.

Auction Division

GSTIN:32AAICS4716N1Z3,SBL:EAUC/CS/50018/18/2025-26,AUCTION:31 DATED:05-Feb-20

## HIGHEST FIVE BIDDERS STATEMENT

<b>MAXIMUM: 3332.00</b>		<b>MINIMUM: 2150.00</b>			<b>AVERAGE: 2488.81</b>	
<b>NAME AND ADDRESS OF PURCHASER</b>	<b>GNY</b>	<b>QTY KGS.</b>	<b>VALUE RS</b>	<b>GSTIN</b>	<b>SBL</b>	
1 MAS ENTERPRISES LIMITED(SPICES DIVISION).	380	17688.20	45307595.20	32AABCM4605M1ZM	CS/M048/277/2023-24	
2 PREETHA TRADING COMPANY, THEVARAM	212	9433.80	23575500.80	33DDXPB1026C1Z1	CS/55891/957/2026-27	
3 POOJA GOWTHAM TRADING COMPANY , THEVAR	174	7853.60	19363875.80	33EBTPS4761N1ZO	CS/55641/711/2024-25	
4 BHARATHI TRADING COMPANY,THEVARAM	83	3807.00	9490582.10	33NCAPS2101B1Z7	CS/55457/527/2023-24	
5 RADHEY RADHEY ENTERPRISES,BODINAYAKANU	75	3594.40	8568699.30	33DBCPR1034K1ZT	CS/12254/10/2023-24	
<b>TOTAL</b>	<b>924.00</b>	<b>42377.00</b>	<b>#####</b>			

# SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.

## Auction Division

GSTIN:32AAICS4716N1Z3,SBL:EAUC/CS/50018/18/2025-26, AUCTION:31 DATED:05-Feb-20

### LOTWAR CUM LITER WEIGHT STATEMENT

LOT	GNV	QTY	RATE	LT.WT	NAME OF PURCHASER
1	2	55.10	2325.00	400	AMRIT SPICES,CUMBUM
12	2	84.80	2441.00	400	BHARATHI TRADING COMPANY,THEVARAM
17	6	316.10	2446.00	400	PREETHA TRADING COMPANY, THEVARAM
20	4	183.40	2403.00	400	RELIANCE CARDAMOM COMPANY,BODINAYAKANUR
21	3	121.50	2464.00	400	PREETHA TRADING COMPANY, THEVARAM
23	1	40.80	2459.00	400	PREETHA TRADING COMPANY, THEVARAM
25	4	184.40	2398.00	400	PREETHA TRADING COMPANY, THEVARAM
27	5	235.60	2351.00	400	SRINIVASA ASSOCIATES,BODINAYAKANUR
34	8	349.50	2382.00	400	AMRIT SPICES,CUMBUM
35	1	26.60	2933.00	400	SANDHYA SPICES,BODINAYAKANUR
37	2	59.70	2190.00	400	RCC SPICES,BODINAYAKANUR
38	4	211.10	2571.00	400	PREETHA TRADING COMPANY, THEVARAM
39	5	278.10	2536.00	400	SANDHYA SPICES,BODINAYAKANUR
40	6	236.20	2473.00	400	PREETHA TRADING COMPANY, THEVARAM
41	1	48.20	2248.00	400	SANDHYA SPICES,BODINAYAKANUR
42	3	130.90	2221.00	400	SANDHYA SPICES,BODINAYAKANUR
43	7	329.50	2286.00	400	AMRIT SPICES,CUMBUM
44	4	164.70	2504.00	400	PREETHA TRADING COMPANY, THEVARAM
45	5	231.20	2344.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
46	5	230.80	2536.00	400	BILAL SPICES, PAMPADUMPARA
47	5	228.10	2454.00	400	PREETHA TRADING COMPANY, THEVARAM
48	4	187.40	2328.00	400	AMRIT SPICES,CUMBUM
49	9	414.40	2465.00	400	BHARATHI TRADING COMPANY,THEVARAM
50	1	53.40	2330.00	400	PAYYALUMURIYIL SPICES, CHAKKUPALLAM
51	9	442.50	2503.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
52	5	250.50	2502.00	400	JEYAM TRADING COMPANY,BODINAYAKANUR
53	6	274.40	2483.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
54	6	246.10	2611.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
55	4	195.60	2537.00	400	SANDHYA SPICES,BODINAYAKANUR
56	5	247.70	2501.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
57	8	355.90	2492.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
58	9	436.80	2665.00	400	SHREE LAXMI SPICES, BODINAYAKANUR
59	4	201.10	2506.00	400	PREETHA TRADING COMPANY, THEVARAM
60	2	75.60	2572.00	400	PREETHA TRADING COMPANY, THEVARAM

LOT	GNY	QTY	RATE	LT.WT	NAME OF PURCHASER
61	2	98.30	2697.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
62	2	100.20	2388.00	370	VARDHAN TRADING COMPANY, BODINAYAKANUR
63	4	188.30	2244.00	390	A.MOHAMMED SALIM
64	4	184.80	2557.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
65	6	265.20	2532.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
66	9	408.20	2511.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
67	10	473.40	2374.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
70	1	57.00	2258.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
71	2	114.40	2219.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
72	2	96.30	2454.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
73	2	89.60	2316.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
74	2	74.40	2480.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
75	2	71.10	2444.00	400	AMRIT SPICES,CUMBUM
76	2	92.20	2628.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
77	2	95.20	2706.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
78	2	66.00	2790.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
79	2	89.30	3005.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
80	2	87.40	3188.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
81	2	97.80	2520.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
82	6	289.20	2820.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
83	5	216.20	2803.00	400	PAYYALUMURIYIL SPICES, CHAKKUPALLAM
84	7	343.30	2522.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
85	10	470.00	2563.00	400	S & N SPICE TRADERS, BODINAYAKANUR
86	5	256.40	2900.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
87	3	138.00	2472.00	400	PREETHA TRADING COMPANY, THEVARAM
88	6	244.10	2477.00	360	PREETHA TRADING COMPANY, THEVARAM
90	3	161.50	2538.00	400	PREETHA TRADING COMPANY, THEVARAM
91	7	294.80	2331.00	400	AMRIT SPICES,CUMBUM
92	8	355.00	2581.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
93	6	290.00	2520.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
94	6	274.10	2529.00	400	PREETHA TRADING COMPANY, THEVARAM
95	6	219.30	2533.00	320	PREETHA TRADING COMPANY, THEVARAM
96	8	392.30	2704.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
97	6	263.70	2507.00	400	JEYAM TRADING COMPANY,BODINAYAKANUR
98	7	349.70	2587.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
99	7	317.70	2579.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
100	3	146.00	2989.00	400	RELIANCE CARDAMOM COMPANY,BODINAYAKANUR
101	5	204.50	2961.00	400	KAVISH TRADING COMPANY, BODINAYKANUR
102	6	220.60	2532.00	320	PREETHA TRADING COMPANY, THEVARAM
103	9	400.00	2452.00	400	PREETHA TRADING COMPANY, THEVARAM

LOT	GNY	QTY	RATE	LT.WT	NAME OF PURCHASER
104	8	362.70	2458.00	400	PREETHA TRADING COMPANY, THEVARAM
105	8	359.60	2459.00	400	PREETHA TRADING COMPANY, THEVARAM
107	6	282.20	3087.00	400	KAVISH TRADING COMPANY, BODINAYKANUR
111	5	246.60	2531.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
112	5	240.90	2504.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
113	6	301.10	2695.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
114	6	300.80	2718.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
115	6	287.10	2254.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
116	6	294.30	2252.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
118	6	271.20	2258.00	400	A.MOHAMMED SALIM
120	6	259.60	2604.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
121	5	225.50	2600.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
124	8	396.90	2517.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
127	6	287.00	3039.00	400	KAVISH TRADING COMPANY, BODINAYKANUR
128	8	402.90	2572.00	400	S & N SPICE TRADERS, BODINAYAKANUR
129	8	380.30	2578.00	400	S & N SPICE TRADERS, BODINAYAKANUR
131	7	348.00	2705.00	400	RCC SPICES,BODINAYAKANUR
132	7	336.20	2690.00	400	RCC SPICES,BODINAYAKANUR
133	9	442.30	2500.00	400	BHARATHI TRADING COMPANY,THEVARAM
138	5	226.50	2524.00	400	PREETHA TRADING COMPANY, THEVARAM
141	3	147.30	3332.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
142	6	290.00	2720.00	400	KAVISH TRADING COMPANY, BODINAYKANUR
143	5	227.30	2699.00	400	RCC SPICES,BODINAYAKANUR
144	5	223.00	2701.00	400	RCC SPICES,BODINAYAKANUR
145	5	221.00	2704.00	400	KAVISH TRADING COMPANY, BODINAYKANUR
146	5	223.00	2713.00	400	RAKSAK CARDAMOM TECHNO PRO PACK
147	7	322.50	2342.00	400	LIMRA TRADING COMPANY,PAMPUPARA
148	7	335.80	2540.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
150	5	243.90	2721.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
151	8	403.30	2491.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
152	8	390.40	2492.00	400	PREETHA TRADING COMPANY, THEVARAM
153	7	338.00	2491.00	400	PREETHA TRADING COMPANY, THEVARAM
154	7	336.00	2498.00	400	LACHUS SPICES,VELLARAMKUNNU
156	7	348.40	2249.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
158	5	243.30	2916.00	400	ROSHANA SPICES,CUMBUM
160	6	232.50	2470.00	400	PREETHA TRADING COMPANY, THEVARAM
162	7	351.00	2522.00	400	BILAL SPICES, PAMPADUMPARA
165	6	242.30	2453.00	400	PREETHA TRADING COMPANY, THEVARAM
169	5	206.80	2743.00	400	ROSHANA SPICES,CUMBUM
172	6	281.50	2414.00	400	AAA SPICES,CUMBUM

LOT	GNV	QTY	RATE	LT.WT	NAME OF PURCHASER
173	5	232.30	2452.00	400	LACHUS SPICES,VELLARAMKUNNU
174	9	415.00	2539.00	400	BILAL SPICES, PAMPADUMPARA
175	5	247.40	2470.00	400	JEYAM TRADING COMPANY,BODINAYAKANUR
176	7	344.40	2479.00	400	PREETHA TRADING COMPANY, THEVARAM
177	5	245.80	2334.00	400	AMRIT SPICES,CUMBUM
180	6	274.10	2481.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
181	8	385.90	2749.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
182	8	370.40	2460.00	400	BHARATHI TRADING COMPANY,THEVARAM
183	8	351.10	2423.00	360	VARDHAN TRADING COMPANY, BODINAYAKANUR
184	8	337.50	2422.00	340	VARDHAN TRADING COMPANY, BODINAYAKANUR
185	9	437.50	2617.00	400	BILAL SPICES, PAMPADUMPARA
187	8	349.80	2550.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
188	5	249.50	2933.00	400	KAVISH TRADING COMPANY, BODINAYKANUR
191	6	296.30	2502.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
194	6	252.50	2401.00	400	BHARATHI TRADING COMPANY,THEVARAM
196	4	200.00	2927.00	400	ROSHANA SPICES,CUMBUM
197	10	422.80	2498.00	360	PREETHA TRADING COMPANY, THEVARAM
198	7	352.50	2737.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
199	3	149.90	2366.00	400	JIYA SPICES,CHAKKUPALLAM,KUMILY
201	8	366.90	2591.00	400	PREETHA TRADING COMPANY, THEVARAM
202	9	408.30	2569.00	400	PREETHA TRADING COMPANY, THEVARAM
203	7	348.10	2391.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
205	13	534.00	2447.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
206	9	403.40	2349.00	400	JIYA SPICES,CHAKKUPALLAM,KUMILY
211	8	362.70	2324.00	380	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
212	14	686.40	2776.00	400	EMPEROR SPICES PRIVATE LIMITED - BODI
213	8	389.60	2588.00	400	PREETHA TRADING COMPANY, THEVARAM
215	4	189.10	2456.00	400	PREETHA TRADING COMPANY, THEVARAM
217	8	362.50	2244.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
218	7	364.80	2780.00	400	BHARATHI TRADING COMPANY,THEVARAM
219	6	264.00	2504.00	400	PREETHA TRADING COMPANY, THEVARAM
220	9	420.90	2462.00	400	PREETHA TRADING COMPANY, THEVARAM
221	7	322.70	2402.00	380	ALLUS GLOBAL SPICE TRADE LINKS PRIVATE LIMITED,VMD
222	6	262.80	2389.00	360	BIYA SPICES
223	4	181.50	2464.00	380	JEYAM TRADING COMPANY,BODINAYAKANUR
224	6	258.00	2613.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
225	15	752.40	2562.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
226	6	238.30	2573.00	380	PREETHA TRADING COMPANY, THEVARAM
227	5	222.50	2491.00	400	PREETHA TRADING COMPANY, THEVARAM
228	7	341.60	2530.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR

LOT	GNV	QTY	RATE	LT.WT	NAME OF PURCHASER
229	8	326.50	2483.00	320	PREETHA TRADING COMPANY, THEVARAM
230	6	290.00	2263.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
231	6	273.70	2236.00	400	RADHEY RADHEY ENTERPRISES, BODINAYAKANUR
233	9	411.00	2311.00	400	SRI SRI GURUDEV SPICES - BODINAYAKANNUR
234	5	228.00	2240.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
236	15	624.00	2438.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
237	6	251.30	2510.00	380	PREETHA TRADING COMPANY, THEVARAM
238	7	328.70	2521.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
239	7	376.30	2268.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
240	5	227.70	2274.00	400	SANDHYA SPICES, BODINAYAKANUR
241	4	170.80	2372.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
242	5	227.60	2240.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
243	5	213.10	2226.00	360	A. MOHAMMED SALIM
245	4	174.30	2352.00	400	SANDHYA SPICES, BODINAYAKANUR
246	7	301.00	2516.00	400	BILAL SPICES, PAMPADUMPARA
248	4	176.40	2253.00	360	SVS GNANAVEL COMPANY, BODINAYAKANUR
249	9	403.30	2358.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
250	5	232.00	2234.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
251	11	549.70	2494.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
252	10	457.40	2493.00	400	BHARATHI TRADING COMPANY, THEVARAM
253	10	482.20	2500.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
254	10	445.80	2335.00	400	BHARATHI TRADING COMPANY, THEVARAM
255	10	496.60	2504.00	400	JEYAM TRADING COMPANY, BODINAYAKANUR
256	6	264.80	2697.00	400	ROSHANA SPICES, CUMBUM
257	12	584.50	2458.00	400	BIYA SPICES
258	9	415.10	2552.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
259	7	320.30	2652.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
260	6	265.20	2375.00	390	BILAL SPICES, PAMPADUMPARA
261	6	302.60	2801.00	400	BILAL SPICES, PAMPADUMPARA
262	5	197.10	2326.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
263	11	540.60	2595.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
264	10	459.10	2234.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
265	6	281.00	2284.00	400	SPICE TOWN, KOCHARA, VANDANMEDU
266	3	134.20	2699.00	410	BILAL SPICES, PAMPADUMPARA
267	5	235.00	2498.00	400	BHARATHI TRADING COMPANY, THEVARAM
268	13	588.70	2531.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
269	8	345.40	2569.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
270	3	168.90	2236.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
271	10	496.10	2518.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
272	6	284.60	2279.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY

LOT	GNY	QTY	RATE	LT.WT	NAME OF PURCHASER
273	7	312.40	2352.00	360	MAS ENTERPRISES LIMITED(SPICES DIVISION).
274	5	258.50	2232.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
275	4	184.80	2530.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
277	4	190.10	2568.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
278	8	379.00	2454.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
279	5	235.10	2221.00	400	RCC SPICES,BODINAYAKANUR
280	3	140.90	2307.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
281	12	562.70	2392.00	400	AAA SPICES,CUMBUM
282	2	82.60	2407.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
283	6	252.70	2630.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
284	12	539.60	2373.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
285	6	274.50	2483.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
286	6	267.80	2665.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
287	3	132.70	2236.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
288	10	453.00	2362.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
289	11	543.10	2490.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
290	7	292.30	2529.00	400	BHARATHI TRADING COMPANY,THEVARAM
291	4	156.80	2685.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
292	11	511.00	2232.00	380	RAKSAK CARDAMOM TECHNO PRO PACK
293	7	334.30	2510.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
294	9	400.50	2603.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
295	8	300.40	2289.00	400	JIYA SPICES,CHAKKUPALLAM,KUMILY
296	7	309.50	2601.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
297	5	223.80	2258.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
298	5	231.70	2232.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
299	1	45.40	2378.00	600	MAS ENTERPRISES LIMITED(SPICES DIVISION).
300	8	380.20	2694.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
301	8	364.80	2522.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
302	6	280.70	2535.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
303	5	188.40	2527.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
304	4	178.20	2502.00	400	BHARATHI TRADING COMPANY,THEVARAM
305	8	340.40	2535.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
306	3	123.70	2282.00	380	POOJA GOWTHAM TRADING COMPANY , THEVARAM
307	7	314.90	2198.00	380	A.MOHAMMED SALIM
308	6	307.00	2214.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
309	7	335.90	2511.00	400	BILAL SPICES, PAMPADUMPARA
310	6	269.10	2495.00	400	BHARATHI TRADING COMPANY,THEVARAM
311	7	286.80	2453.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
312	8	375.50	2224.00	400	A.MOHAMMED SALIM
313	1	43.80	2221.00	400	A.MOHAMMED SALIM

LOT	GNY	QTY	RATE	LT.WT	NAME OF PURCHASER
314	8	380.00	2209.00	400	RAKSAK CARDAMOM TECHNO PRO PACK
315	3	139.00	2171.00	400	SUBALAKSHMI SPICES ,THEVARAM
316	9	359.50	2155.00	400	SUREN AGENCIES, BODINAYAKANUR
317	9	326.90	2150.00	400	RAKSAK CARDAMOM TECHNO PRO PACK
318	7	327.90	2407.00	400	ALLUS GLOBAL SPICE TRADE LINKS PRIVATE LIMITED,VMD
319	8	379.30	2421.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
320	7	340.50	2824.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
321	6	270.00	2379.00	400	AMRIT SPICES,CUMBUM
322	3	112.30	2228.00	400	KINGFISHER SPICES, MILLUPADI, ADIMALY
323	5	218.50	2484.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR
324	5	249.10	2541.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
333	6	290.20	2802.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
334	3	127.60	2214.00	400	A.MOHAMMED SALIM
338	1	40.40	2180.00	400	SVS GNANAVEL COMPANY, BODINAYAKANUR
339	14	633.30	2513.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
340	9	388.60	2490.00	400	POOJA GOWTHAM TRADING COMPANY , THEVARAM
341	6	296.50	2519.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
344	5	204.20	2231.00	360	KINGFISHER SPICES, MILLUPADI, ADIMALY
345	7	333.90	2350.00	400	AMRIT SPICES,CUMBUM
352	5	226.30	2340.00	400	MAS ENTERPRISES LIMITED(SPICES DIVISION).
359	4	182.00	2247.00	400	A.MOHAMMED SALIM
367	7	310.40	2462.00	400	AMRIT SPICES,CUMBUM
396	13	614.70	2223.00	400	RADHEY RADHEY ENTERPRISES,BODINAYAKANUR

**1584 72883.70**

<b>TOTAL GUNNY NOS:</b>	<b>1584.00</b>
<b>TOTAL WEIGHT KGS.</b>	<b>72883.70</b>
<b>MAXIMUM RATE RS.:</b>	<b>3332.00</b>
<b>MINIMUM RATE RS.:</b>	<b>2150.00</b>
<b>AVERAGE RATE RS.:</b>	<b>2488.81</b>
<b>TOTAL AMOUNT RS.:</b>	<b>181393940.00</b>

# FORM - C

## SPECIALITY INDIAN FOOD PARKS & EXPORTS PVT LTD.

Auction Division, 1/662-H, Amayar,Vandnamedu, Idukki, Kerala, PIN -685551

Auction No:31 Dated:05-Feb-2026 Season:2025-2026 Maximum:3332.00 Minimum Price:2150.00 Average Price:2488.81

S#	Lot#	Gr	Plantername	CrNo	Pld-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbl #	
<b>DETAILS OF CARDAMOM POOLED BY DEALERS</b>																	
1	34	B	KANDATHINKAL SPICES	32AYTPA1219J1ZM	349.50	349.50	2382.00	832509.00	8325.00	0.00	0.00	0.00	6789.00	829407.00	AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2	
2	45	B	LIMRA TRADING COMPAN	32BYWPA9833Q1ZK	231.20	231.20	2344.00	541932.80	5419.00	0.00	0.00	0.00	6680.00	542152.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2	
3	58	B	KANDATHINKAL SPICES	32AYTPA1219J1ZM	436.80	436.80	2665.00	1164072.00	11641.00	0.00	0.00	0.00	7595.00	1157855.00	SHREE LAXMI SPICES, BODH	CS/55551/621/2024-2	
4	63	B	LIMRA TRADING COMPAN	32BYWPA9833Q1ZK	188.30	188.30	2244.00	422545.20	4225.00	0.00	0.00	0.00	6395.00	423891.00	A.MOHAMMED SALIM	CS/M179/274/2023-2	
5	65	B	LACHUS SPICES	32CBCPB1616E1ZL	265.20	265.20	2532.00	671486.40	6715.00	0.00	0.00	0.00	7216.00	670707.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2	
6	83	B	CARDIMA TREASURES	32GUEPS8219B2ZN	216.20	216.20	2803.00	606008.60	6060.00	0.00	0.00	0.00	7989.00	606767.00	PAYYALUMURIYIL SPICES, C	CS/DL-193/49/2023-2	
7	86	B	SPICE TOWN	32AEUFS0230C1ZF	256.40	256.40	2900.00	743560.00	7436.00	0.00	0.00	0.00	8265.00	742968.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2	
8	97	B	LACHUS SPICES	32CBCPB1616E1ZL	263.70	263.70	2507.00	661095.90	6611.00	0.00	0.00	0.00	7145.00	660369.00	JEYAM TRADING COMPANY,	CS/10138/25/2023-24	
9	101	B	BILAL SPICES	32BDRPN8414L1Z2	204.50	204.50	2961.00	605524.50	6055.00	0.00	0.00	0.00	8439.00	606734.00	KAVISH TRADING COMPANY	CS/13355/90/2023-24	
10	103	B	SYRA SPICES PVT LTD	33ABECS1916R1ZZ	400.00	400.00	2452.00	980800.00	9808.00	0.00	0.00	0.00	6988.00	976145.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
11	104	B	SYRA SPICES PVT LTD	33ABECS1916R1ZZ	362.70	362.70	2458.00	891516.60	8915.00	0.00	0.00	0.00	7005.00	887932.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
12	105	B	SYRA SPICES PVT LTD	33ABECS1916R1ZZ	359.60	359.60	2459.00	884256.40	8843.00	0.00	0.00	0.00	7008.00	880760.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
13	107	B	BILAL SPICES	32BDRPN8414L1Z2	282.20	282.20	3087.00	871151.40	8712.00	0.00	0.00	0.00	8798.00	869581.00	KAVISH TRADING COMPANY	CS/13355/90/2023-24	
14	127	B	BILAL SPICES	32BDRPN8414L1Z2	287.00	287.00	3039.00	872193.00	8722.00	0.00	0.00	0.00	8661.00	870476.00	KAVISH TRADING COMPANY	CS/13355/90/2023-24	
15	141	B	BILAL SPICES	32BDRPN8414L1Z2	147.30	147.30	3332.00	490803.60	4908.00	0.00	0.00	0.00	9496.00	494413.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2	
16	158	B	BILAL SPICES	32BDRPN8414L1Z2	243.30	243.30	2916.00	709462.80	7095.00	0.00	0.00	0.00	8311.00	709318.00	ROSHANA SPICES,CUMBUM	CS/R1341/206/2023-2	
17	169	B	LACHUS SPICES	32CBCPB1616E1ZL	206.80	206.80	2743.00	567252.40	5673.00	0.00	0.00	0.00	7818.00	568297.00	ROSHANA SPICES,CUMBUM	CS/R1341/206/2023-2	
18	174	B	SPICE MARK	32ANTPT0682K1ZE	415.00	415.00	2539.00	1053685.00	10537.00	0.00	0.00	0.00	7236.00	1048415.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2	
19	188	B	BILAL SPICES	32BDRPN8414L1Z2	249.50	249.50	2933.00	731783.50	7318.00	0.00	0.00	0.00	8359.00	731423.00	KAVISH TRADING COMPANY	CS/13355/90/2023-24	
20	196	B	BILAL SPICES	32BDRPN8414L1Z2	200.00	200.00	2927.00	585400.00	5854.00	0.00	0.00	0.00	8342.00	586751.00	ROSHANA SPICES,CUMBUM	CS/R1341/206/2023-2	
21	202	B	ROYAL SPICES	32AGXPV7134P1ZC	408.30	408.30	2569.00	1048922.70	10489.00	0.00	0.00	0.00	7322.00	1043794.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
<b>CUMULATIVE PAGE TOTAL</b>					<b>5973.50</b>	<b>5973.50</b>		<b>15935961.80</b>	<b>159361.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>161857.00</b>	<b>15908155.00</b>			



S#	Lot#	Gr	Plantname	CrNo	Pld-Qty	Sld-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbl #
48	31	B	RUBANS P		167.90	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00		
49	35	B	P D BABYCHAN		26.60	26.60	2933.00	78017.80	780.00	0.00	0.00	0.00	8359.00	85372.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2
50	37	B	M K ISMAIL		59.70	59.70	2190.00	130743.00	1307.00	0.00	0.00	0.00	6242.00	135380.00	RCC SPICES,BODINAYAKANI	CS/55450/520/2023-2
51	38	B	SAJEEV PAULOSE		211.10	211.10	2571.00	542738.10	5427.00	0.00	0.00	0.00	7327.00	543588.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
52	39	B	BASIL VARGHSE		278.10	278.10	2536.00	705261.60	7053.00	0.00	0.00	0.00	7228.00	704094.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2
53	40	B	KANNAN P S		236.20	236.20	2473.00	584122.60	5841.00	0.00	0.00	0.00	7048.00	584208.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
54	41	B	PRAJEEESH T		48.20	48.20	2248.00	108353.60	1084.00	0.00	0.00	0.00	6407.00	113417.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2
55	42	B	MIDHUN ANTONY		130.90	130.90	2221.00	290728.90	2907.00	0.00	0.00	0.00	6330.00	293566.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2
56	43	B	P M JOSE		329.50	329.50	2286.00	753237.00	7532.00	0.00	0.00	0.00	6515.00	750799.00	AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
57	44	B	SOORAJ SURENDRAN		164.70	164.70	2504.00	412408.80	4124.00	0.00	0.00	0.00	7136.00	414607.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
58	46	B	JOSEPH MATHEW		230.80	230.80	2536.00	585308.80	5853.00	0.00	0.00	0.00	7228.00	585557.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2
59	47	B	BOBY JOSEPH		228.10	228.10	2454.00	559757.40	5598.00	0.00	0.00	0.00	6994.00	560076.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
60	48	B	SIBY JOSEPH		187.40	187.40	2328.00	436267.20	4363.00	0.00	0.00	0.00	6635.00	437687.00	AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
61	49	B	JOBIN M JOSE		414.40	414.40	2465.00	1021496.00	10215.00	0.00	0.00	0.00	7025.00	1016397.00	BHARATHI TRADING COMP	CS/55457/527/2023-2
62	50	B	ABIN K THOMAS		53.40	53.40	2330.00	124422.00	1244.00	0.00	0.00	0.00	6641.00	129528.00	PAYYALUMURIYIL SPICES, C	CS/DL-193/49/2023-2
63	51	B	MATHEWSCARIA		442.50	442.50	2503.00	1107577.50	11076.00	0.00	0.00	0.00	7134.00	1101570.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
64	52	B	RAVICHANDRAN		250.50	250.50	2502.00	626751.00	6268.00	0.00	0.00	0.00	7131.00	626414.00	JEYAM TRADING COMPANY,	CS/10138/25/2023-24
65	53	B	SANAL KUMAR ES		274.40	274.40	2483.00	681335.20	6813.00	0.00	0.00	0.00	7077.00	680302.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2
66	54	B	RENI ANTONY		246.10	246.10	2611.00	642567.10	6426.00	0.00	0.00	0.00	7441.00	642351.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2
67	55	B	A RAJA		195.60	195.60	2537.00	496237.20	4962.00	0.00	0.00	0.00	7230.00	497540.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2
68	56	B	VISHNU P GOPI		247.70	247.70	2501.00	619497.70	6195.00	0.00	0.00	0.00	7128.00	619245.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
69	57	B	THASLIMA BASHEER		355.90	355.90	2492.00	886902.80	8869.00	0.00	0.00	0.00	7102.00	883468.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
70	59	B	BINCY AUGUSTINE		201.10	201.10	2506.00	503956.60	5040.00	0.00	0.00	0.00	7142.00	505080.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
71	60	B	MINI VIJAYAKUMAR		75.60	75.60	2572.00	194443.20	1944.00	0.00	0.00	0.00	7330.00	199406.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
72	61	B	V VAISHNAVI		98.30	98.30	2697.00	265115.10	2651.00	0.00	0.00	0.00	7686.00	269597.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2
73	62	B	AUGUSTINE JOHN		100.20	100.20	2388.00	239277.60	2393.00	0.00	0.00	0.00	6806.00	243192.00	VARDHAN TRADING COMPAN	CS/55514/584/2023-2
74	64	B	SANTHOSH FRANCIS		184.80	184.80	2557.00	472533.60	4725.00	0.00	0.00	0.00	7287.00	474173.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2
75	66	B	ELIAS KJ		408.20	408.20	2511.00	1024990.20	10250.00	0.00	0.00	0.00	7156.00	1019980.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
<b>CUMULATIVE PAGE TOTAL</b>					<b>7160.80</b>	<b>6901.70</b>		<b>17038832.70</b>	<b>170388.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>245732.00</b>	<b>17081048.00</b>		

S#	Lot#	Gr	Plantername	CrNo	Pld-Qty	Sld-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbl #
76	67	B	R. VASANTHAN		473.40	473.40	2374.00	1123851.60	11239.00	0.00	0.00	0.00	6766.00	1117288.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
77	70	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	57.00	57.00	2258.00	128706.00	1287.00	0.00	0.00	0.00	6435.00	133558.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
78	71	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	114.40	114.40	2219.00	253853.60	2539.00	0.00	0.00	0.00	6324.00	257119.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
79	72	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	96.30	96.30	2454.00	236320.20	2363.00	0.00	0.00	0.00	6994.00	240456.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
80	73	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	89.60	89.60	2316.00	207513.60	2075.00	0.00	0.00	0.00	6601.00	211600.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
81	74	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	74.40	74.40	2480.00	184512.00	1845.00	0.00	0.00	0.00	7068.00	189332.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
82	75	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	71.10	71.10	2444.00	173768.40	1738.00	0.00	0.00	0.00	6965.00	178614.00	AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
83	76	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	92.20	92.20	2628.00	242301.60	2423.00	0.00	0.00	0.00	7490.00	246857.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
84	77	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	95.20	95.20	2706.00	257611.20	2576.00	0.00	0.00	0.00	7712.00	262207.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
85	78	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	66.00	66.00	2790.00	184140.00	1841.00	0.00	0.00	0.00	7952.00	189840.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
86	79	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	89.30	89.30	3005.00	268346.50	2683.00	0.00	0.00	0.00	8564.00	273660.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
87	80	B	DEVAGIRI ESTATE	32AHNPS9285P1Z7	87.40	87.40	3188.00	278631.20	2786.00	0.00	0.00	0.00	9086.00	284339.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
88	81	B	GOLDVIEW VYAPAAR PVT	32AACCG6883A1ZW	97.80	97.80	2520.00	246456.00	2465.00	0.00	0.00	0.00	7182.00	250657.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
89	82	B	JOSE CHACKO		289.20	289.20	2820.00	815544.00	8155.00	0.00	0.00	0.00	8037.00	813878.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
90	84	B	JESSY SABU		343.30	343.30	2522.00	865802.60	8658.00	0.00	0.00	0.00	7188.00	862702.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
91	85	B	THOMAS K JOSEPH		470.00	470.00	2563.00	1204610.00	12046.00	0.00	0.00	0.00	7305.00	1197628.00	S & N SPICE TRADERS, BODI	CS/DL-189/14/2023-2
92	87	B	ANJALI SUBIN		138.00	138.00	2472.00	341136.00	3411.00	0.00	0.00	0.00	7045.00	344086.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
93	88	B	K SUBHASHREE		244.10	244.10	2477.00	604635.70	6046.00	0.00	0.00	0.00	7059.00	604490.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
94	90	B	R RAVIKUMAR		161.50	161.50	2538.00	409887.00	4099.00	0.00	0.00	0.00	7233.00	412211.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
95	91	B	THOMAS K SEBASTIAN		294.80	294.80	2331.00	687178.80	6872.00	0.00	0.00	0.00	6643.00	685647.00	AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
96	92	B	J RAJNIGANTH		355.00	355.00	2581.00	916255.00	9163.00	0.00	0.00	0.00	7356.00	912725.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
97	93	B	GIGY THOMAS		290.00	290.00	2520.00	730800.00	7308.00	0.00	0.00	0.00	7182.00	729287.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
98	94	B	GIGY THOMAS		274.10	274.10	2529.00	693198.90	6932.00	0.00	0.00	0.00	7208.00	692155.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
99	95	B	REMYA V JACOB		219.30	219.30	2533.00	555486.90	5555.00	0.00	0.00	0.00	7219.00	556079.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2
100	96	B	ANISH GEORGE		392.30	392.30	2704.00	1060779.20	10608.00	0.00	0.00	0.00	7706.00	1055891.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
101	98	B	P K RAMBA		349.70	349.70	2587.00	904673.90	9047.00	0.00	0.00	0.00	7373.00	901297.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
102	99	B	P K RAMBA		317.70	317.70	2579.00	819348.30	8193.00	0.00	0.00	0.00	7350.00	816958.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
103	100	B	NIMISHA SEBASTIAN		146.00	146.00	2989.00	436394.00	4364.00	0.00	0.00	0.00	8519.00	439677.00	RELIANCE CARDAMOM COM	CS/R1382/204/2023-2
<b>CUMULATIVE PAGE TOTAL</b>					<b>12949.90</b>	<b>12690.80</b>		<b>31870574.90</b>	<b>318705.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>451294.00</b>	<b>31941286.00</b>		

S#	Lot#	Gr	Plantname	CrNo	Pld-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt Bidder/Purchaser	Sbl #
104	102	B	THOMAS VARGHESE		220.60	220.60	2532.00	558559.20	5586.00	0.00	0.00	0.00	7216.00	559112.00 PREETHA TRADING COMPAN	CS/55891/957/2026-2
105	111	B	D KUMARAVEL		246.60	246.60	2531.00	624144.60	6241.00	0.00	0.00	0.00	7213.00	623921.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
106	112	B	JESU DAKSHIN THIPPAIAH		240.90	240.90	2504.00	603213.60	6032.00	0.00	0.00	0.00	7136.00	603161.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
107	113	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	301.10	301.10	2695.00	811464.50	8115.00	0.00	0.00	0.00	7681.00	809493.00 RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
108	114	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	300.80	300.80	2718.00	817574.40	8176.00	0.00	0.00	0.00	7746.00	815596.00 RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
109	115	B	SAMPLE		287.10	287.10	2254.00	647123.40	6471.00	0.00	0.00	0.00	6424.00	645848.00 KINGFISHER SPICES, MILLUF	CS/K1027/233/2023-2
110	116	B	SAMPLE		294.30	294.30	2252.00	662763.60	6628.00	0.00	0.00	0.00	6418.00	661297.00 KINGFISHER SPICES, MILLUF	CS/K1027/233/2023-2
111	118	B	ABRAHAM NICHOLAS		271.20	271.20	2258.00	612369.60	6124.00	0.00	0.00	0.00	6435.00	611514.00 A.MOHAMMED SALIM	CS/M179/274/2023-24
112	120	B	R GOWRISHANKAR		259.60	259.60	2604.00	675998.40	6760.00	0.00	0.00	0.00	7421.00	675369.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
113	121	B	S GNANAVEL		225.50	225.50	2600.00	586300.00	5863.00	0.00	0.00	0.00	7410.00	586718.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
114	124	B	SCARIA NEBU GEORGE		396.90	396.90	2517.00	998997.30	9990.00	0.00	0.00	0.00	7173.00	994311.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
115	128	B	ANU PHILIP		402.90	402.90	2572.00	1036258.80	10363.00	0.00	0.00	0.00	7330.00	1031287.00 S & N SPICE TRADERS, BODI	CS/DL-189/14/2023-2
116	129	B	ANU PHILIP		380.30	380.30	2578.00	980413.40	9804.00	0.00	0.00	0.00	7347.00	976119.00 S & N SPICE TRADERS, BODI	CS/DL-189/14/2023-2
117	131	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	348.00	348.00	2705.00	941340.00	9413.00	0.00	0.00	0.00	7709.00	937865.00 RCC SPICES,BODINAYAKANI	CS/55450/520/2023-2
118	132	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	336.20	336.20	2690.00	904378.00	9044.00	0.00	0.00	0.00	7667.00	901296.00 RCC SPICES,BODINAYAKANI	CS/55450/520/2023-2
119	133	B	BASIL ELDBHOSE		442.30	442.30	2500.00	1105750.00	11058.00	0.00	0.00	0.00	7125.00	1099756.00 BHARATHI TRADING COMPAN	CS/55457/527/2023-2
120	138	B	GANDHI M		226.50	226.50	2524.00	571686.00	5717.00	0.00	0.00	0.00	7193.00	572061.00 PREETHA TRADING COMPAN	CS/55891/957/2026-2
121	142	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	290.00	290.00	2720.00	788800.00	7888.00	0.00	0.00	0.00	7752.00	787166.00 KAVISH TRADING COMPANY	CS/13355/90/2023-24
122	143	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	227.30	227.30	2699.00	613482.70	6135.00	0.00	0.00	0.00	7692.00	613858.00 RCC SPICES,BODINAYAKANI	CS/55450/520/2023-2
123	144	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	223.00	223.00	2701.00	602323.00	6023.00	0.00	0.00	0.00	7698.00	602837.00 RCC SPICES,BODINAYAKANI	CS/55450/520/2023-2
124	145	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	221.00	221.00	2704.00	597584.00	5976.00	0.00	0.00	0.00	7706.00	598161.00 KAVISH TRADING COMPANY	CS/13355/90/2023-24
125	146	B	MUTHUKAD ESTATE	32AABCM4605M1ZM	223.00	223.00	2713.00	604999.00	6050.00	0.00	0.00	0.00	7732.00	605515.00 RAKSAK CARDAMOM TECHN	CS/55708/778/2024-2
126	147	B	CELINE THOMAS		322.50	322.50	2342.00	755295.00	7553.00	0.00	0.00	0.00	6675.00	752990.00 LIMRA TRADING COMPANY,F	CS/12257/158/2023-2
127	148	B	TONY PHILIP		335.80	335.80	2540.00	852932.00	8529.00	0.00	0.00	0.00	7239.00	850035.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
128	150	B	G BALAKRISHNAN		243.90	243.90	2721.00	663651.90	6637.00	0.00	0.00	0.00	7755.00	663497.00 EMPEROR SPICES PRIVATE	CS/55837/903/2025-2
129	151	B	JAIS C PAUL		403.30	403.30	2491.00	1004620.30	10046.00	0.00	0.00	0.00	7099.00	999794.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
130	152	B	JAIS C PAUL		390.40	390.40	2492.00	972876.80	9729.00	0.00	0.00	0.00	7102.00	968428.00 PREETHA TRADING COMPAN	CS/55891/957/2026-2
131	153	B	NISHA JAIS		338.00	338.00	2491.00	841958.00	8420.00	0.00	0.00	0.00	7099.00	839050.00 PREETHA TRADING COMPAN	CS/55891/957/2026-2
<b>CUMULATIVE PAGE TOTAL</b>					<b>21348.90</b>	<b>21089.80</b>		<b>53307432.40</b>	<b>533076.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>655487.00</b>	<b>53327341.00</b>	

S#	Lot#	Gr	Plantername	CrNo	Pld-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbl #	
132	154	B	NISHA JAIS		336.00	336.00	2498.00	839328.00	8393.00	0.00	0.00	0.00	7119.00	836472.00	LACHUS SPICES,VELLARAMI	CS/10396/205/2023-2	
133	156	B	SAMPLE		348.40	348.40	2249.00	783551.60	7836.00	0.00	0.00	0.00	6410.00	780651.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24	
134	160	B	ANUP JOHN		232.50	232.50	2470.00	574275.00	5743.00	0.00	0.00	0.00	7040.00	574467.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
135	162	B	JESSY SABU		351.00	351.00	2522.00	885222.00	8852.00	0.00	0.00	0.00	7188.00	881893.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2	
136	165	B	SURESHKUMAR		242.30	242.30	2453.00	594361.90	5944.00	0.00	0.00	0.00	6991.00	594269.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
137	172	B	SULTHAN SYED IBRAHIM		281.50	281.50	2414.00	679541.00	6795.00	0.00	0.00	0.00	6880.00	678334.00	AAA SPICES,CUMBUM	CS/10179/260/2023-2	
138	173	B	SULTHAN SYED IBRAHIM		232.30	232.30	2452.00	569599.60	5696.00	0.00	0.00	0.00	6988.00	569796.00	LACHUS SPICES,VELLARAMI	CS/10396/205/2023-2	
139	175	B	POORANI		247.40	247.40	2470.00	611078.00	6111.00	0.00	0.00	0.00	7040.00	610836.00	JEYAM TRADING COMPANY,	CS/10138/25/2023-24	
140	176	B	JOSEPH M DEVASIA		344.40	344.40	2479.00	853767.60	8538.00	0.00	0.00	0.00	7065.00	850687.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
141	177	B	JAMES JOSEPH THEKKED.		245.80	245.80	2334.00	573697.20	5737.00	0.00	0.00	0.00	6652.00	573513.00	AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2	
142	180	B	LOVELY PHREM		274.10	274.10	2481.00	680042.10	6800.00	0.00	0.00	0.00	7071.00	679018.00	MAS ENTERPRISES LIMITED.	CS/M048/277/2023-24	
143	181	B	RENU MATHEW		385.90	385.90	2749.00	1060839.10	10608.00	0.00	0.00	0.00	7835.00	1056078.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2	
144	182	B	ABRAHAM KV		370.40	370.40	2460.00	911184.00	9112.00	0.00	0.00	0.00	7011.00	907373.00	BHARATHI TRADING COMPAN	CS/55457/527/2023-2	
145	183	B	ELWIN JOHN MATHEW		351.10	351.10	2423.00	850715.30	8507.00	0.00	0.00	0.00	6906.00	847513.00	VARDHAN TRADING COMPAN	CS/55514/584/2023-2	
146	184	B	ELWIN JOHN MATHEW		337.50	337.50	2422.00	817425.00	8174.00	0.00	0.00	0.00	6903.00	814614.00	VARDHAN TRADING COMPAN	CS/55514/584/2023-2	
147	185	B	AMITHA KUNIKULLAYA G		437.50	437.50	2617.00	1144937.50	11449.00	0.00	0.00	0.00	7458.00	1138812.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2	
148	187	B	SABU VARGHESE		349.80	349.80	2550.00	891990.00	8920.00	0.00	0.00	0.00	7268.00	888659.00	MAS ENTERPRISES LIMITED.	CS/M048/277/2023-24	
149	191	B	SUNU MATHEW		296.30	296.30	2502.00	741342.60	7413.00	0.00	0.00	0.00	7131.00	739654.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2	
150	194	B	ALIYAR KP		252.50	252.50	2401.00	606252.50	6063.00	0.00	0.00	0.00	6843.00	605872.00	BHARATHI TRADING COMPAN	CS/55457/527/2023-2	
151	197	B	BALACHANDRAN		422.80	422.80	2498.00	1056154.40	10562.00	0.00	0.00	0.00	7119.00	1050739.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
152	198	B	V RAJA PRATHAP SINGH		352.50	352.50	2737.00	964792.50	9648.00	0.00	0.00	0.00	7800.00	961130.00	MAS ENTERPRISES LIMITED.	CS/M048/277/2023-24	
153	199	B	JOY JOSEPH		149.90	149.90	2366.00	354663.40	3547.00	0.00	0.00	0.00	6743.00	357154.00	JIYA SPICES,CHAKKUPALLAI	CS/J894/241/2023-24	
154	201	B	SAJEESH THOMAS		366.90	366.90	2591.00	950637.90	9506.00	0.00	0.00	0.00	7384.00	946732.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
155	203	B	THULASI VM		348.10	348.10	2391.00	832307.10	8323.00	0.00	0.00	0.00	6814.00	829232.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24	
156	205	B	C.D PRABHAKARAN		534.00	534.00	2447.00	1306698.00	13067.00	0.00	0.00	0.00	6974.00	1298183.00	MAS ENTERPRISES LIMITED.	CS/M048/277/2023-24	
157	206	B	CICILIA JOSHY		403.40	403.40	2349.00	947586.60	9476.00	0.00	0.00	0.00	6695.00	943033.00	JIYA SPICES,CHAKKUPALLAI	CS/J894/241/2023-24	
158	211	B	PRINCE JOSEPH		362.70	362.70	2324.00	842914.80	8429.00	0.00	0.00	0.00	6623.00	839526.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24	
159	212	B	V VAISHNAVI		686.40	686.40	2776.00	1905446.40	19054.00	0.00	0.00	0.00	7912.00	1890795.00	EMPEROR SPICES PRIVATE	CS/55837/903/2025-2	
<b>CUMULATIVE PAGE TOTAL</b>					<b>30892.30</b>	<b>30633.20</b>		<b>77137783.50</b>	<b>771379.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>853350.00</b>	<b>77072376.00</b>			

S#	Lot#	Gr	Plantername	CrNo	Pld-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Disc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbl #	
160	213	B	ANJU VARGHESE		389.60	389.60	2588.00	1008284.80	10083.00	0.00	0.00	0.00	7376.00	1003689.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
161	215	B	ALFRED R V		189.10	189.10	2456.00	464429.60	4644.00	0.00	0.00	0.00	7000.00	465880.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
162	220	B	JOHNY UTHUP		420.90	420.90	2462.00	1036255.80	10363.00	0.00	0.00	0.00	7017.00	1030974.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
163	221	B	SIBY MATHEW		322.70	322.70	2402.00	775125.40	7751.00	0.00	0.00	0.00	6846.00	772756.00	ALLUS GLOBAL SPICE TRADI	CS/55716/786/2024-2	
164	222	B	ELWIN JOHN MATHEW		262.80	262.80	2389.00	627829.20	6278.00	0.00	0.00	0.00	6809.00	627162.00	BIYA SPICES	CS/B952/105/2023-24	
165	225	B	THRESIAMMA JOSEPH		752.40	752.40	2562.00	1927648.80	19276.00	0.00	0.00	0.00	7302.00	1912132.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24	
166	227	B	AMAL V R		222.50	222.50	2491.00	554247.50	5542.00	0.00	0.00	0.00	7099.00	554736.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
167	229	B	AUGUSTINE K A		326.50	326.50	2483.00	810699.50	8107.00	0.00	0.00	0.00	7077.00	808139.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
168	230	B	SAMPLE		290.00	290.00	2263.00	656270.00	6563.00	0.00	0.00	0.00	6450.00	654911.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24	
169	231	B	SAMPLE		273.70	273.70	2236.00	611993.20	6120.00	0.00	0.00	0.00	6373.00	611081.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24	
170	234	B	C.D PRABHAKARAN		228.00	228.00	2240.00	510720.00	5107.00	0.00	0.00	0.00	6384.00	511014.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2	
171	236	B	ABHILASH KA		624.00	624.00	2438.00	1521312.00	15213.00	0.00	0.00	0.00	6948.00	1510240.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24	
172	237	B	MOHANAN KP		251.30	251.30	2510.00	630763.00	6308.00	0.00	0.00	0.00	7154.00	630402.00	PREETHA TRADING COMPAN	CS/55891/957/2026-2	
173	238	B	UMA P		328.70	328.70	2521.00	828652.70	8287.00	0.00	0.00	0.00	7185.00	825987.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2	
174	240	B	RONY JOSE		227.70	227.70	2274.00	517789.80	5178.00	0.00	0.00	0.00	6481.00	518096.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2	
175	241	B	ANIL KUMAR A		170.80	170.80	2372.00	405137.60	4051.00	0.00	0.00	0.00	6760.00	407050.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2	
176	242	B	PRASANNA ANANDAN		227.60	227.60	2240.00	509824.00	5098.00	0.00	0.00	0.00	6384.00	510128.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2	
177	243	B	VARKEY C C		213.10	213.10	2226.00	474360.60	4744.00	0.00	0.00	0.00	6344.00	475044.00	A.MOHAMMED SALIM	CS/M179/274/2023-24	
178	245	B	LISSY		174.30	174.30	2352.00	409953.60	4100.00	0.00	0.00	0.00	6703.00	411752.00	SANDHYA SPICES,BODINAY/	CS/S2485/245/2023-2	
179	248	B	AUGUSTINE JOHN		176.40	176.40	2253.00	397429.20	3974.00	0.00	0.00	0.00	6421.00	399097.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2	
180	250	B	SAMPLE		232.00	232.00	2234.00	518288.00	5183.00	0.00	0.00	0.00	6367.00	518475.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2	
181	251	B	K D RAJAPPAN		549.70	549.70	2494.00	1370951.80	13710.00	0.00	0.00	0.00	7108.00	1361811.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24	
182	252	B	JOBIN M JOSE		457.40	457.40	2493.00	1140298.20	11403.00	0.00	0.00	0.00	7105.00	1133877.00	BHARATHI TRADING COMP	CS/55457/527/2023-2	
183	253	B	LISY SUNNY		482.20	482.20	2500.00	1205500.00	12055.00	0.00	0.00	0.00	7125.00	1198329.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24	
184	254	B	BINU APPALOSE		445.80	445.80	2335.00	1040943.00	10409.00	0.00	0.00	0.00	6655.00	1035248.00	BHARATHI TRADING COMP	CS/55457/527/2023-2	
185	255	B	CIRIN ABRAHAM		496.60	496.60	2504.00	1243486.40	12435.00	0.00	0.00	0.00	7136.00	1235878.00	JEYAM TRADING COMPANY,I	CS/10138/25/2023-24	
186	256	B	SREEJA LIJO		264.80	264.80	2697.00	714165.60	7142.00	0.00	0.00	0.00	7686.00	713348.00	ROSHANA SPICES,CUMBUM	CS/R1341/206/2023-2	
187	257	B	R. VASANTHAN		584.50	584.50	2458.00	1436701.00	14367.00	0.00	0.00	0.00	7005.00	1426683.00	BIYA SPICES	CS/B952/105/2023-24	
<b>CUMULATIVE PAGE TOTAL</b>					<b>40477.40</b>	<b>40218.30</b>		<b>100486843.80</b>	<b>1004870.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>#####</b>	<b>100336295.00</b>			

S#	Lot#	Gr	Plantname	CrNo	Pld-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbl #
188	258	B	VILASINI GOPALAN		415.10	415.10	2552.00	1059335.20	10593.00	0.00	0.00	0.00	7273.00	1054035.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
189	259	B	SHIBY SHAJI		320.30	320.30	2652.00	849435.60	8494.00	0.00	0.00	0.00	7558.00	846896.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
190	260	B	YUVARAJA K		265.20	265.20	2375.00	629850.00	6299.00	0.00	0.00	0.00	6769.00	629118.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2
191	261	B	ROY T JOHN		302.60	302.60	2801.00	847582.60	8476.00	0.00	0.00	0.00	7983.00	845484.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2
192	262	B	SIJUMON K K		197.10	197.10	2326.00	458454.60	4585.00	0.00	0.00	0.00	6629.00	459607.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
193	263	B	SAJEESH THOMAS		540.60	540.60	2595.00	1402857.00	14029.00	0.00	0.00	0.00	7396.00	1393625.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
194	264	B	EDMOND SABBY		459.10	459.10	2234.00	1025629.40	10256.00	0.00	0.00	0.00	6367.00	1019830.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2
195	266	B	ARUN MG		134.20	134.20	2699.00	362205.80	3622.00	0.00	0.00	0.00	7692.00	365547.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2
196	267	B	RAJA		235.00	235.00	2498.00	587030.00	5870.00	0.00	0.00	0.00	7119.00	587151.00	BHARATHI TRADING COMP	CS/55457/527/2023-2
197	268	B	LAKSHMI BIJU		588.70	588.70	2531.00	1489999.70	14900.00	0.00	0.00	0.00	7213.00	1479559.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
198	269	B	SHIMYA		345.40	345.40	2569.00	887332.60	8873.00	0.00	0.00	0.00	7322.00	884110.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
199	270	B	JOSE CHACKO		168.90	168.90	2236.00	377660.40	3777.00	0.00	0.00	0.00	6373.00	379513.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2
200	271	B	JANCY ABRAHAM		496.10	496.10	2518.00	1249179.80	12492.00	0.00	0.00	0.00	7176.00	1241544.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
201	274	B	JOSSY ABRAHAM		258.50	258.50	2232.00	576972.00	5770.00	0.00	0.00	0.00	6361.00	576461.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2
202	275	B	VARKEY C.C		184.80	184.80	2530.00	467544.00	4675.00	0.00	0.00	0.00	7211.00	469166.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
203	277	B	YOHANNACHAN		190.10	190.10	2568.00	488176.80	4882.00	0.00	0.00	0.00	7319.00	489662.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
204	278	B	JOHNY UTHUP		379.00	379.00	2454.00	930066.00	9301.00	0.00	0.00	0.00	6994.00	926015.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
205	279	B	JIJI JOSEPH		235.10	235.10	2221.00	522157.10	5222.00	0.00	0.00	0.00	6330.00	522262.00	RCC SPICES,BODINAYAKANI	CS/55450/520/2023-2
206	280	B	JOHNSON VARGHESE		140.90	140.90	2307.00	325056.30	3251.00	0.00	0.00	0.00	6575.00	327729.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
207	281	B	VARGHESE GEORGE		562.70	562.70	2392.00	1345978.40	13460.00	0.00	0.00	0.00	6817.00	1336845.00	AAA SPICES,CUMBUM	CS/10179/260/2023-2
208	282	B	C.D PRABHAKARAN		82.60	82.60	2407.00	198818.20	1988.00	0.00	0.00	0.00	6860.00	203263.00	KINGFISHER SPICES, MILLUF	CS/K1027/233/2023-2
209	283	B	MATHEW K C (SIBICHAN)		252.70	252.70	2630.00	664601.00	6646.00	0.00	0.00	0.00	7496.00	664180.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
210	284	B	ABRAHAM SEBASTIAN		539.60	539.60	2373.00	1280470.80	12805.00	0.00	0.00	0.00	6763.00	1272056.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
211	285	B	KALAIVANI R		274.50	274.50	2483.00	681583.50	6816.00	0.00	0.00	0.00	7077.00	680547.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
212	286	B	REENA SUNNY		267.80	267.80	2665.00	713687.00	7137.00	0.00	0.00	0.00	7595.00	712784.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-2
213	287	B	LINU A S		132.70	132.70	2236.00	296717.20	2967.00	0.00	0.00	0.00	6373.00	299525.00	KINGFISHER SPICES, MILLUF	CS/K1027/233/2023-2
214	288	B	TINSON GEORGE		453.00	453.00	2362.00	1069986.00	10700.00	0.00	0.00	0.00	6732.00	1064024.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
215	290	B	JEGATHEESH B		292.30	292.30	2529.00	739226.70	7392.00	0.00	0.00	0.00	7208.00	737640.00	BHARATHI TRADING COMP	CS/55457/527/2023-2

**CUMULATIVE PAGE TOTAL**

**49192.00 48932.90**

**122014437.50 1220148.00**

**0.00 0.00 0.00**

**#####**

**121804473.00**

S#	Lot#	Gr	Plantname	CrNo	Pid-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt	Bidder/Purchaser	Sbi #
216	291	B	SHAHUL HAMEED P R		156.80	156.80	2685.00	421008.00	4210.00	0.00	0.00	0.00	7652.00	423616.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
217	292	B	JOJI NINAN		511.00	511.00	2232.00	1140552.00	11406.00	0.00	0.00	0.00	6361.00	1133391.00	RAKSAK CARDAMOM TECHN	CS/55708/778/2024-2
218	293	B	DHARMARAJ A		334.30	334.30	2510.00	839093.00	8391.00	0.00	0.00	0.00	7154.00	836274.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
219	294	B	RONY JOSE		400.50	400.50	2603.00	1042501.50	10425.00	0.00	0.00	0.00	7419.00	1037544.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
220	295	B	TOM ZACHARIAH		300.40	300.40	2289.00	687615.60	6876.00	0.00	0.00	0.00	6524.00	685960.00	JIYA SPICES,CHAKKUPALLAI	CS/J894/241/2023-24
221	296	B	NAVEEN THOMAS		309.50	309.50	2601.00	805009.50	8050.00	0.00	0.00	0.00	7413.00	802850.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
222	297	B	SHYLAJA SURESH		223.80	223.80	2258.00	505340.40	5053.00	0.00	0.00	0.00	6435.00	505749.00	RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
223	298	B	JOHNSON VARGHESE		231.70	231.70	2232.00	517154.40	5172.00	0.00	0.00	0.00	6361.00	517349.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2
224	299	B	ELWIN JOHN MATHEW		45.40	45.40	2378.00	107961.20	1080.00	0.00	0.00	0.00	6777.00	113397.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
225	300	B	KEN KURUVILA JACOB		380.20	380.20	2694.00	1024258.80	10243.00	0.00	0.00	0.00	7678.00	1019773.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
226	301	B	SADHASIVAN S		364.80	364.80	2522.00	920025.60	9200.00	0.00	0.00	0.00	7188.00	916286.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
227	302	B	SHAHUL HAMEED P R		280.70	280.70	2535.00	711574.50	7116.00	0.00	0.00	0.00	7225.00	710331.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
228	303	B	SINAJ K.A		188.40	188.40	2527.00	476086.80	4761.00	0.00	0.00	0.00	7202.00	477599.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
229	304	B	JINI SHAJI		178.20	178.20	2502.00	445856.40	4459.00	0.00	0.00	0.00	7131.00	447654.00	BHARATHI TRADING COMP	CS/55457/527/2023-2
230	306	B	AZIYA P.A		123.70	123.70	2282.00	282283.40	2823.00	0.00	0.00	0.00	6504.00	285391.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
231	307	B	BIJU T J		314.90	314.90	2198.00	692150.20	6922.00	0.00	0.00	0.00	6264.00	690184.00	A.MOHAMMED SALIM	CS/M179/274/2023-24
232	308	B	A OCHAPPAN		307.00	307.00	2214.00	679698.00	6797.00	0.00	0.00	0.00	6310.00	677925.00	SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2
233	309	B	JOSEPH M.DEVASIA		335.90	335.90	2511.00	843444.90	8434.00	0.00	0.00	0.00	7156.00	840578.00	BILAL SPICES, PAMPADUMP,	CS/10910/187/2023-2
234	310	B	MATHEW A.J		269.10	269.10	2495.00	671404.50	6714.00	0.00	0.00	0.00	7111.00	670522.00	BHARATHI TRADING COMP	CS/55457/527/2023-2
235	311	B	ASWATHY MOHAN		286.80	286.80	2453.00	703520.40	7035.00	0.00	0.00	0.00	6991.00	702140.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
236	313	B	SIBI PAUL		43.80	43.80	2221.00	97279.80	973.00	0.00	0.00	0.00	6330.00	102399.00	A.MOHAMMED SALIM	CS/M179/274/2023-24
237	314	B	LEELA ANTONY		380.00	380.00	2209.00	839420.00	8394.00	0.00	0.00	0.00	6296.00	835748.00	RAKSAK CARDAMOM TECHN	CS/55708/778/2024-2
238	315	B	SEBASTIAN P D		139.00	139.00	2171.00	301769.00	3018.00	0.00	0.00	0.00	6187.00	304333.00	SUBALAKSHMI SPICES ,THE	CS/55624/694/2024-2
239	316	B	SAMPLE		359.50	359.50	2155.00	774722.50	7747.00	0.00	0.00	0.00	6142.00	771661.00	SUREN AGENCIES, BODINAY	CS/S2786/303/2023-2
240	317	B	SAMPLE		326.90	326.90	2150.00	702835.00	7028.00	0.00	0.00	0.00	6128.00	700608.00	RAKSAK CARDAMOM TECHN	CS/55708/778/2024-2
241	318	B	JOEL KURUVILLA		327.90	327.90	2407.00	789255.30	7893.00	0.00	0.00	0.00	6860.00	786733.00	ALLUS GLOBAL SPICE TRAD	CS/55716/786/2024-2
242	319	B	BINDU RAJI		379.30	379.30	2421.00	918285.30	9183.00	0.00	0.00	0.00	6900.00	914280.00	POOJA GOWTHAM TRADING	CS/55641/711/2024-2
243	320	B	JISHAN JOSE		340.50	340.50	2824.00	961572.00	9616.00	0.00	0.00	0.00	8048.00	958193.00	MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
<b>CUMULATIVE PAGE TOTAL</b>					<b>57032.00</b>	<b>56772.90</b>		<b>140916115.50</b>	<b>1409167.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>#####</b>	<b>140672941.00</b>		

S#	Lot#	Gr	Plante name	CrNo	Pld-Qty	Slid-Qty	Rate	Value	Comm	SrvTax	G-Dsc	CDF	S.Ref.	Net Amnt Bidder/Purchaser	Sbi #
244	321	B	ROY GEORGE		270.00	270.00	2379.00	642330.00	6423.00	0.00	0.00	0.00	6780.00	641463.00 AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
245	322	B	GOLDVIEW VYAPAAR PVT	32AACCG6883A1ZW	112.30	112.30	2228.00	250204.40	2502.00	0.00	0.00	0.00	6350.00	253538.00 KINGFISHER SPICES, MILLUF	CS/K1027/233/2023-2
246	323	B	SEEJAMMA RAJESH		218.50	218.50	2484.00	542754.00	5428.00	0.00	0.00	0.00	7079.00	543358.00 RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
247	324	B	AFSAL P E		249.10	249.10	2541.00	632963.10	6330.00	0.00	0.00	0.00	7242.00	632663.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
248	333	B	ROMSY NOBLE		290.20	290.20	2802.00	813140.40	8131.00	0.00	0.00	0.00	7986.00	811452.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
249	334	B	SURESHKUMAR P S		127.60	127.60	2214.00	282506.40	2825.00	0.00	0.00	0.00	6310.00	285420.00 A.MOHAMMED SALIM	CS/M179/274/2023-24
250	338	B	ALIYAR KP		40.40	40.40	2180.00	88072.00	881.00	0.00	0.00	0.00	6213.00	93183.00 SVS GNANAVEL COMPANY, I	CS/12608/250/2023-2
251	339	B	SAJI KILIMALA KUTTACHA		633.30	633.30	2513.00	1591482.90	15915.00	0.00	0.00	0.00	7162.00	1579793.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
252	340	B	SAJI KILIMALA KUTTACHAI		388.60	388.60	2490.00	967614.00	9676.00	0.00	0.00	0.00	7097.00	963222.00 POOJA GOWTHAM TRADING	CS/55641/711/2024-2
253	341	B	SETHULAL PS		296.50	296.50	2519.00	746883.50	7469.00	0.00	0.00	0.00	7179.00	745177.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
254	344	B	THOMAS VARGHESE		204.20	204.20	2231.00	455570.20	4556.00	0.00	0.00	0.00	6358.00	456489.00 KINGFISHER SPICES, MILLUF	CS/K1027/233/2023-2
255	345	B	SASIDHARAN A S		333.90	333.90	2350.00	784665.00	7847.00	0.00	0.00	0.00	6698.00	782037.00 AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
256	352	B	JOSE CHACKO		226.30	226.30	2340.00	529542.00	5295.00	0.00	0.00	0.00	6669.00	529896.00 MAS ENTERPRISES LIMITED	CS/M048/277/2023-24
257	359	B	VASAVAN G		182.00	182.00	2247.00	408954.00	4090.00	0.00	0.00	0.00	6404.00	410468.00 A.MOHAMMED SALIM	CS/M179/274/2023-24
258	367	B	ANUMOL VARGHESE		310.40	310.40	2462.00	764204.80	7642.00	0.00	0.00	0.00	7017.00	762134.00 AMRIT SPICES,CUMBUM	CS/A2623/261/2023-2
259	396	B	IVY JOMY		614.70	614.70	2223.00	1366478.10	13665.00	0.00	0.00	0.00	6336.00	1356625.00 RADHEY RADHEY ENTERPRI	CS/12254/10/2023-24
<b>TOTAL</b>					<b>61530.00</b>	<b>61270.90</b>		<b>151783480.30</b>	<b>1517842.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>#####</b>	<b>151519859.00</b>	

We confirm that no discount or commission other than the 1% commission permitted to us by the rules has been accepted by us or received from owners of cardamom sold in the auction not have we passed on any cardamom or commission to the purchasers.

Place:

Date :

